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Practice Exam: LOGIC AND VERBAL REASONING
1. Answer: 1). Nice
2. Answer: 1) Three dozen
3. Answer: 3) Deny
4. Answer: 3) Numeral
5. Answer: 1) Ben = P.E.
6. Answer: 2) Fire
7. Answer: 1) Eager
8. Answer: 1) 20578
9. Answer: 2) Geriatrics
10. Answer: 1) Hapless
11. Answer: 1) Figured
12. Answer: 3) Pride
13. Answer: 13) New
14. Answer: 1) The motorist put the car into neutral.
15. Answer: 3) Grinder
16. Answer: 1) It is best to start as early as possible to take full advantage of a
situation.
17. Answer: 17) work (Network)
18. Answer: 1) Closeness
19. Answer: 4) Capture
20. Answer: 4) It is better to do a task when it first arises, than wait till it becomes
more of a chore.
21. Answer: 1) Secluded
22. Answer: 1) Cabinet
23. Answer: 1) XXVI
24. Answer: 2) Change and variety makes life more interesting.
25. Answer: 3) quartet
26. Answer: 2) 21

Practice Exam: MATHS
1. Answer: 4) the same distance
2. Answer: 1) 12 minutes
3. Answer: 1) 68 tenths
4. Answer: 2) 36, 24
5. Answer: 4) 25 times
6. Answer: 2) 102c
7. Answer: 2) 8 metres
8. Answer: 1) 52
9. Answer: 1) 1200cmz2
10. Answer: 1) 54
11. Answer: 11) fourth day
12. Answer: 1) 7
13. Answer: 1) 70%
14. Answer: 3) .40
15. Answer: 1) 6, 12
16. Answer: D) Between 55 and 60
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Answer: D) 20s

Answer: C) Vinyl tiles

Answer: B) Sandpaper

Answer: C) In an environment with average temperatures 35°C or higher
Answer: D) No flies were moving and a few may have been dead
Answer: C) Enter a coma from which, later, most will recover

Answer: C) 40°C

Answer: B) 39 beats per minute

Answer: B) 40°C

Answer: B) 3.

Answer: C) 3.

Answer: A) Tank A

Answer: D) Graph D

Answer: C) Over the same period of time, geraniums release more oxygen when
in sunlight.

Answer: A) Animal 1

Answer: C) 250 packets

Answer: B) Radiant

Practice Exam: COMPREHENSION

1.

2.

Answer: 2) It would be better to let a few sheep die from the fire than have his
employees and friends die fighting the fire.

Answer: 1) 'The super' was trying to stop 'Old Bill' from fighting the fire and
risking his own life.

Answer: 1) Beating the burning grass would cause the fire to extinguish.
Answer: 3) The fire was unstoppable as there were not enough people to
contain it. Just when they would stop the fire in one area, it would start up again
elsewhere.

Answer: 1) It was destroying the livelihood and subsequent prosperity in the
area.

Answer: 2) The Trojans warriors were famous for their warriors fighting abilities.
The workers were similar in that they worked very hard and would not give up,
until they had put the fire out.

Answer: 2) By burning the land ahead of them, the fire would have nothing to
feed on and would burn out eventually.

Answer: 1) True
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